
Unit 5t Day 16  
Special Cases Notes 

Letõs Warm Up those Brains! 

1. Graph the following two lines .   

y = 2x + 4  

y = 2x ð 2 

a) Where do the lines intersect? How can you be sure? 

 

b) What do you think the solution to the system is? Why? 

 

 

c) Without a graph, two lines are parallel if they have the: 

 

(1)  _____________slopes  AND     (2)  _____________y-intercepts 

 

And the solution will always be ________________________. 

 

2. Graph the following two lines .   

y = -x + 3  

2x + 2y = 6    

 

a) Where do the lines intersect? How can you be sure? 

 

b) What do you think the solution to the system is? Why? 

 

 

c) Without a graph, two lines are the same if they have the: 

 

(2)  _____________slopes  AND     (2)  _____________y-intercepts 

 

And the solution will always be ________________________. 

 

 

 




